What are considered as Legacy Ethernet?

For all speeds of Ethernet transmission 1000 Mbps or slower, how slower can transmission be?

What is slot time?

What is SQE and why is it an important process and where is it always used?

What is line encoding?

What is Manchester encoding?

Why is 10Base5 important?

What is the primary benefit of 10Base5?

What are the two disadvantages of 10Base5?

Why does 10Base5 only run in half-duplex?

Why was 10Base2 easier to install?

Why does 10Base2 only run half-duplex?

What is 10Base-T?

What topology is used in 10Base-T?

Can 10Base-T run in full-duplex?

What is the maximum cable length of 10Base-T?

What connectors does 10Base-T use?

What distance can 10Base-T links have?

What is Fast Ethernet?

What is 100Base-TX and what is 100Base-FX?

What are the three characteristics that are common to 100Base-TX and 100Base-FX?

What are the two encoding steps used by 100 Mbps Ethernet?

Why was 100Base-TX successful?

What encoding does 100Base-TX use?

How many Mbps of traffic does 100Base-TX carry in half-duplex and how many in full-duplex?

What is 100Base-FX?

What is 100Base-FX used for?

What wasn’t 100Base-FX adopted successfully?

What is Class I repeater?

What is Class II repeater?

What cabling does 1000Base-T use?

What cabling does 1000Base-X use?

What layer do the differences occur between standard Ethernet, Fast Ethernet and Gigabit Ethernet?

Does the Gigabit Ethernet frame have the same format as is used for 10 and 100 Ethernet?

What are symbols?

Why was 1000Base-T standard developed?

How many pairs of wires are used by 1000Baset-T?

what does it mean when the 1000Base-T encoding with 4D-PAM5 line encoding is used on Category 5e, or better, UTP?

 What is the 1000Base-T cable?

What is 10 Gbps Ethernet?

Are the frame format and other Ethernet Layer 2 specifications compatible with previous standards?

What is the major conceptual change for Ehternet?

Manchester encoding

Manchester encoding uses a change in voltage to represent the binary numbers zero and one. An increase or decrease in voltage during a timed period, called the bit period, determines the binary value of the bit.

Line encoding describes how the bits are actually signaled on the wire. The simplest encodings have undesirable timing and electrical characteristics. Therefore, line codes have been designed with desirable transmission properties. This form of encoding used in 10-Mbps systems is called Manchester encoding.

Manchester encoding uses the transition in the middle of the timing window to determine the binary value for that bit period. A digital coding scheme, used by IEEE 802.3 and Ethernet, in which a mid-bit-time transition is used for clocking.

Class 1 and Class II

A Class I repeater may introduce up to 140 bit-times latency. Any repeater that changes between one Ethernet implementation and another is a Class I repeater. A Class II repeater is restricted to smaller timing delays, 92 bit times, because it immediately repeats the incoming signal to all other ports without a translation process. To achieve a smaller timing delay, Class II repeaters can only connect to segment types that use the same signaling technique.

The 1000BASE-T standard, IEEE 802.3ab, uses Category 5, or higher, balanced copper cabling. The 1000BASE-X standard, IEEE 802.3z, specifies 1 Gbps full duplex over optical fiber.

1000BASE-TX, 1000BASE-SX, and 1000BASE-LX

543 rules

10-Mbps Ethernet operates within the timing limits for a series of up to five segments separated by up to four repeaters. This is known as the 5-4-3 rule. No more than four repeaters can be used in series between any two stations. There can also be no more than three populated segments between any two stations.
